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QUESTION 1

Each entry in a crontab must end with what character?
A. Tab

B. Space

C. Backslash

D. Newline

Correct Answer: D

QUESTION 2
Which file specifies the user accounts that can NOT submit jobs via at or batch? (Provide the full path and filename)
A. /etc/at.deny

Correct Answer: A

QUESTION 3

Which of the following commands preloads and manages keys that are used for automatic authentication while logging
in to other machines using SSH?

A. sshd

B. ssh-agent
C. ssh-keygen
D. ssh-add

Correct Answer: B

QUESTION 4

Which file, when using Sendmail or a compatible MTA system, will allow a user to redirect all of their mail to another
address and is configurable by the user themselves?

A. /etc/alias
B. /etc/mail/forwarders

C. ~/.alias
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D. ~/.forward

Correct Answer: D

QUESTION 5

Which of the following are operators used for comparison by the test command? (Choose two correct answers.)
A. equals

B.=

C.-is

D. —-eq

E. null

Correct Answer: BD
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